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Ll In matrices (A +B)' =2
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L bxyz %2z 2x2y éxlyle e ibodf Wy, 2xyz | 2
; L.CM. of 3x%y? | 2xyz is:
v I I I Lo 2,95 3
Location of the point (#2, 4)is'in quadrant:
i 1’CT2 7r?h mrh Ez._.l.}, <~ by F e dﬁlfbb‘»fug 4
3 2 3 Volume of right cirelar cylinder is:
273 7 I sl e w:ﬁ..fu“; B3 107 3 LA LIS 5
’ g : : Thelifie caplanar with a circle and intersecting the
Normal line Altitude Tangent line Median cizele abone point only is called:
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triangle triangle triangle triangle Triangle with no equal side is called:
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C(:;:i:z::,hc Equal circles Semi circle$ Cc:i'::]‘:s"c Circles with equal radii or equal diameters are cailed:
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AB In matrices (AB)™! =2
-z w1 =
3x - 2x2 2x2-3x 0 x(2x ~3) s =) 9
Factorization of 2x2 = 3x is:
et e A I PR elx (DX (DY I X>Y A 10
< less than or > greater than
i < lessthan equal 10 or equal to > greater than|[f X > Y then (-2)x ..... (-2)y :
[
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L How many ways to find square root?
o el 3
(x=Dx=5) | x+Dx=5) | x-DE+5) | x+)x+5) +UAS (43’ -4| 12
Factorization of (x +3)% -4 is:
- ] _a : £ P@ S 26 PO) x-a fi| 13
If X—2 js a factor of P(X), then P(a)=?
o is - " P(-D) =73y P(x) =4x* +3x2=5x +1 /1| 14
If P(x) =4x* +3x® —5x +1, then P(-1)=?
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Write short answers to any SIX parts. F@q}n - ::L'ﬂ/;‘?c.(.pl'ﬂq;'c..di(
If P(x) = 9%3 = 2x2 4 3x 4 | , then find P() _ _g,{r-,lv P() iy P(x) = 9% —2x2 +3x +1 ] 0}
Multiply:  (2+v3)(5-3) @+3-Y3) Z s Gi
1f%=3~~/5,thenﬁndx : __ép‘v X?n%ﬂ—\/fﬁ (iii)
Factorize:  2aX +bx +6ay + 3by _ . 2ax + bx + Gay + 3by 39‘,{67-? (iv)
Factorize:  8x? =5 | | 82 Wty W
Whether (X=1) is a factor of x2 +4x 5 7 -éfr:"" - UA26 X2 +4x 5 L?//.?( (x=1) {2 (vi)
Find HCF. : 4abc® | 8adbc , Gabdc 4abc? | 8a3bc.;“‘63b_30 .&g{r}"’f‘gﬁ;u (vii)
Find LCM.: = 12p%? , 8p2qr 12p°2 , 8pZqr - 'ngfﬁkﬁ;'b}r,s (viii)
Find the square root: x? - 2xy + y2 x*-2xy+y? 5&';;{1("139 (ix)
Write short answers to any SIX parts. -l &Uﬁ/ﬁﬁrl?h{c.—éf
Solve:  3(2x+5)=25+x 32x+5)=25+x . &S0
Solve:  3(x=2)<l+2x ' M-2<l+2x P G
Solve the inequality: ~ X—7 <5-2x XTS5 L Sl i)
Write the names of methods to solve quadraticeguation. _értﬁu;?}ﬁé_fwfabl/d»» (iv)
Solve by factorization: x? +lx -7 =0 X2 +4x 77 =0 :gfd’c;_.;a_;)’édf (v)
Solve by factorization: 6x/=5x 28 6x = 5?(2 -8 g_—fd’df“.y» (vi)
Find M~'if M =[;, ﬂ M =Ea, ﬂ gk Mot (vii)
Find the matyiX protudt; [f _;]B :21] [f _ﬁ[é :21} S AP (i)
Define transpose of a matrix with example. _@Jb},rg{bg/&ﬂjéqw (ix)

Write short answers to any SIX parts,

_é’a&b’/‘?ﬁflilgc'_.(jf

Find the value of x in the given triangle:

Eeed x el 6

Define the vertical angle. *gf,gbé‘/‘."dlé_.-_sli(ﬂ; (i)
d d

Write the angles marked with letters: & 1450 ¢ 145¢ :gfr}vuj»‘fJu;,r;.},;wa,J,/ (iii)
2, i '

Define the medians of a triangle. —gf.:bg/Jé.lb-n’:.éJi‘ (iv)

Construct a square with sides of length Gem. -4 6 JUJéj;:CJ’é__bd/ug (v)
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Draw an equilateral triangle with length of each side is 5.3cm -n(5.3 &};Kgﬂ?:.l::..:ﬁcubllfd:l/qj (vi)

' ,Q{IJ,WJL_,JJ}, S 12 5 GUsind el A6 (vii)

The sides of a right triangle are 5cm and 12cm. Find the hypotenuse.

Find volume of a sphere whose radius is 3cm. _4_(3 SIS .._&-’:r#{%/..ﬂfl (viii)
Find the distance between points: (=1, 3), -2, _.1) 13,2, -b :“ér:i"‘.l#liu“lx»diwi (ix)

~Uf/ 08 LJB’/: _Jé,{fm&lﬁémﬂlfcﬁcdi/ cr:t_,.:«:u.
Part - II, Attempt any THREE questions. Each question carries 08 marks.

ab+bc+ca=8. atbtc=12 FEERES S 2 +b2+c? (L)

Find the \»'all.u:cofr aZ+b?+c? when a+b+c=12 and ab+ begRica =.8

-c.’.—fr}’”d“@?i-klzrr’-};- (x-1) gR(X)= 5x* +14x> +3x2 =5x -3 S ()
If p(x) = 5x* +14x> + 3x% - 5x -3 is divided by (x —Jy. Findthe remainder.

Find H.C.F. by division method: 4% +2x* ~€x", 4%’ - 8x” +4 :"ér:lv(ﬁ'uuc,,pjﬁrc’"“ ()

Solve: %(2)( +3)<(7-4x) 21-‘—(2){ +3)<(7-4x) _éd’ (.,_.,)
Solve by using quadratic formula: %—% =-4x_—% (x #0) ;”L.J:‘_JF‘._,,_‘J:,KL;»,, ()
Let M=[13 i} then findyn~Fand MM~ - _érsl‘" MM 2! ?”M=[§ i] S ()

Use Cramer's Rllle to solve the equation: x+2y=3;x+3y=5 :;}:J’Ku?lstxc_. L) ()

D600 11 450 LSl st S 7 s BALK et ABC 2 (L)
Constriagt a triangle ABC with base length Scm and angles at both ends of base are 45° and 60°
respectively.

2 1 QST 4 bbbl gE A (L)

Find the volume of right circular cylinder with circumference of base 4cm, altitude Im.

UTLBIS A C(4,3) 51 B(6,2) - AR, 4) bBSE b (L)
Show that the points A(2 , 4) , B(6 , 2) and C(4 , 3) are collinear.
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